Orbital Distances

Orbits are standardized on the traditional Titus-Bode Relation HZ
distances primarily for ease of use.

5b HABITABLE ZONES Habitable Zones for Stars of the Spectral Type and Size Shown.
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Orbit No. *Complexities: Size la Orbit 12 also includes AO-F6.
Size Ib Orbit 11 also includes A0-A8.
Size Il Orbit 9 also includes A0-A8.
Size lll Orbit 7 also includes A9-F1.
Size Il Orbit 8 also includes A0-A8.
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S=is an approximation. Calculate Orbit radius for a definitive S=.

Satellite Orbit radius varies with the gas giant or planet. Calculate Satellite Orbit Radius = Multiplier (GG x or World x) times
Primary World Size (use Ehex) for a result in thousands of km.

For example, Luna is orbit Ell around Terra. Terra is World Size 8. Luna orbits Terra at 50 x 8 = 400 thousand km. Titan is
orbit Ell around Saturn. Saturn is World Size = S (Ehex = 26 ). Titan orbits Saturn at 50 x 26 = 1,300 thousand km.
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